For each, state the angle relationship and find the |2, pon't forget to keep writing the relationship!
value of x.

1.

70
121°
X X

Step 1. Write out the equation and
relationship.

3 4.

X
28°
X 165°
5. 6
X 48° [
X
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Bubble all the correct answers from above. Don't bubble incorrect answers.

Q37 Q48 O35 Q121 Q143 O28 Q1522 Q1652 Q90°

O1s°



For each, state the angle relationship and solve for |8.
X.

7. X+13o 2X‘23o

x+45°

2x-19°

X+45°=2X+19° Vertical Angle Theorem
=X =X
45°=x+19°
-19° -19°
26°=x

9. 10.
3x-9°
2x-17 <x+12°

x+117°

11. 12.
3x-377

x+91°
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Bubble all the correct answers from above. Don't bubble incorrect answers.

Oe65° 0O386° 0633 O20° Qe63° Os56c Q64 O36° O27° O29°



You're doing great. Now try these! Write the given
information on the diagram, state the angle
relationship, and solve for the indicated angle.

13. m«£SOT=138° Find m«NOE.

S msSOT=mzNOE
T Vertical Angle Theorem

138°=m«szNOE

15. m£TKE=87° Find mzAKS.

T A

17. m2IKS=51° Find mZHKE.
H I

14. m£EAM=63° Find mzIAL.
E M

16.m2£GER=147° Find m£AET.
G

18. m«DCE=153° Find m£ACB.
A B
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Bubble all the correct answers from above. Don't bubble incorrect answers.

Q138 QOs1c Q117 Q93e O33°

O129°

O153¢ Q1472 O63°

Os7re



19. mzZHAE=X+24°, mz£DAS=2X-8° Find mz£DAS.

E' mzHAE=m.DAS
Vertical Angle Theorem

H

X+24°=2X~-8°
-X -X
S 24°=x-g8°
+8° +8°
32°=x
M2LDAS=2x-8°
m2LDAS=2(32)-8°
MmsDAS=64-8°
M2LDAS=56°

21. m£GET=3X-51°, mzZAEN=2X-17°
Find mzGET.

A G

z

23. mzBOE=5X+36°, mzZNOL=3X+42°
Find mzNOL.

20. m£ABD=2X-37°, m£CBE=X+65° Find

m2CBE.
A C

22. m£LEN=X+89°, m£ZBED=2X+89°
Find mzBED.

B

=

24. m£PIT=4x-51°, m«£L10=3x° Find m£LIO.
P

N
L I
0 B T
L 0
E
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Bubble all the correct answers from above. Don't bubble incorrect answers.
Q28 QOs1e Qe QOs1e Q68 (08 Q0° Os6e Qo° O 153°



